AR Tl A Ik HFEEmFER

1 IEES FHEX-HFEIS
2 IEH/4 PEEHEIE
3 IZEiGRT ERHTAN2THHA
4 F+LEITERE Tri23%F 10848 FHI9OK30H
5 FE{l (Fitk) 50,880,000M
6 =IEHIR M4 44,877,000M

ARLE BT 5 = AfLEEE | EEEES | RETEES | BEeTma

(A) (Feik) (B) (A)+(B) [[=Riva

(%) Rkl 24.00 44,900, 000 69. 96 93. 96 1
(%) Z B4l 23.28 44,877,000 70.00 93.28 2
3BT E (#) 23.00 44,878, 000 70.00 93. 00 3
(%) /INASE 22.90 44, 880, 000 70. 00 92.90 4
H R (¥R 20. 43 44, 879, 000 70. 00 90. 43 5
TEIREER (%) 19. 00 44,877, 000 70. 00 89. 00 6
(%) =REHK 20. 00 45, 852, 000 68. 51 88. 51 7
={EEZ%E (%) 16. 50 44, 900, 000 69. 96 86. 46 8
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